83901 Bar After Work Gold
EAN: 4025621839019

o

DESIG

Email: info@kare.de
KARE Design GmbH Zeppelinstralie 16, 85748 Garching-Hochbriick Germany

Geschéftsfiihrende Gesellschafter: Jlirgen Reiter, Peter Schénhofen
KARE Design GmbH HRB 164 249 Amtsgericht Miinchen Sitz: Miinchen Steuernummer: Finanzamt Minchen fur Kérperschaften,
143/153/40064 USt-ID: DE 250 622 249

www.kare.de www.kare-design.de


Gaby Kohlmüller
Stamp

mailto:info@kare.de
http://www.kare.de
http://www.kare-design.de

ARE 83901 Bar After Work Gold
N

1. Glass top 2. Top frame & A 3. Bar Body 4. Bar legs 4pcs & B
M6%17 Long screw M6*12 Short screw

C O (1] ] \

T

Step 1: Assemble 4 legs

o o w, [A Spes [B dpes |[C 2pes |D 16pes [E - dpes |F 2pes |G 2pes [H 1pes Step 2: Assemble footrest
w n g Mé6*17 | Mé6*12 4.0°25 | 5.025 Step 3: Assemble Metal top frame
Put glass washer & glass

Dg “‘) @me @m e (i @ =1 Step 4: completely




ARE 83901 Bar After Work Gold
N

1. Glass top 2. Top frame & A 3. Bar Body 4. Bar legs 4pcs & B
M6%17 Long screw M6*12 Short screw

C O (1] ] \

T

Step 1: Assemble 4 legs

o o w, [A Spes [B dpes |[C 2pes |D 16pes [E - dpes |F 2pes |G 2pes [H 1pes Step 2: Assemble footrest
w n g Mé6*17 | Mé6*12 4.0°25 | 5.025 Step 3: Assemble Metal top frame
Put glass washer & glass

Dg “‘) @me @m e (i @ =1 Step 4: completely




	pdf-template.pdf
	Blank Page


